Al B0j1+t




=N




- 0] 24 7| M)

0|21 - WhisperZt Google= &

=]
=

|04

LL
=

X8 - B ZH At T =4 2 Of




I XI= IO

e
o
h

- 227 |0fl= B0 Z 20| Ch

==

0]

—
e

et

= 57|01

]

- =
o
] h

Ao

Ok X
ANl—- 1

S0

&xt=0]

5t 1

- C|Qf5







-
=
c
o
B
=
[#]
=
w
o
sl
W
i
i
o
@
c
@
N =
rar]
iH
| =
i
L
=
=
o
c
=2
Q
]
=
e
(9]
=




210] Zx]: en Al‘ﬁl'o-" ul‘E 010—' =bN;

7HE 712 AE0] ofCloll A=K 21 Ho K.

B "olsliEMR

L2 E o =)

# O RHAZE BFO0| ULt HOIFHR:

G7|M 2k 7102 A'go| ofcjoa?

'oojcY HiE




.
o
g
=
et
c
2
=]
o
P
w
g
o
o
£
[
o
]
b
c
o
=
o
=
frary
8]
=
]
E

- O XIARS BRE U

- O|CE =




B U= =S

| want to know where the nearest restaurant is
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ol IE(HTML)

<IDOCTYPE html|> <label>X[1A 22 H2IQ17tR?</label>
<html lang="ko"> <select name="natural">
<head> <option value="yes">0f|</option>
<meta charset="UTF-8"> <option value="no">0tL|2</option>
<title>Al 2% A< /title> </select><br><br>
</head>
<body> <label>%20]| HEooIR7?</label>
<h1> 2] St= Qo &3 dd</h1> <select name="appropriate">
<form method="POST"> <option value="yes">0{|</option>
<textarea name="user_input" rows="4" cols="60" <option value="no">0}L|2</option>
placeholder="0f|: 0{3l 5 HZ 2= &%, JAOAH 2|2 A HE QF </select><br><br>
M £Hd S"></textarea><br><br>
<button type="submit">E£% 4 </button> <label>A2 1tA|o| Ot= F5017IQ ?2</label>
</form> <select name="power_relation">

<option value="yes">0{|</option>
{% if generated %} <option value="no">0}L|2</option>
<h2> . ‘Y E 2-</h2> </select><br><br>
<p>{{ generated }}</p>

<button type="submit">I| =84 X|=</button>
<h3>ul O] 22 & YIISHA|ILIR?</h3> </form>
<form method="POST" action="/feedback"> 1% endif %}
<input type="hidden" name="generated_text" value="{{ </body>
generated }}"> </html>




2 3= (APP.PY)

if detected_lang == "ko":
prompt — fllllll
You are an English conversation coach.

DO NOT translate the situation description.
DO NOT explain anything.
DO NOT add any commentary.

The user will describe a situation **in Korean**, followed by what they want to say in that situation.
Your task is to **imagine what a native English speaker would say in that specific situation to achieve the user's goal**,

ONLY return the final English sentence (one sentence).
DO NOT repeat the situation or explanation.
DO NOT translate the situation.

Situation (for context only): {situation}
User's intended message: {request}
Output:




2 3= (APP.PY)

elif detected_lang == "en":
prompt — fllllll
You are a Korean conversation coach.

DO NOT translate the situation description.
DO NOT explain anything.
DO NOT add any commentary.

The user will describe a situation **in English**, followed by what they want to say in that situation.
Your task is to **imagine what a native Korean speaker would say in that specific situation to achieve the user's goal**.

ONLY return the final Korean sentence (one sentence).
DO NOT repeat the situation or explanation.
DO NOT translate the situation.

Situation (for context only): {situation}
User's intended message: {request}
Output:




2 3= (APP.PY)

@app.route("/generate”, methods=["POST"])
def generate():

data = request.get_json()

user_input = data.get("prompt”, "")

try:

detected_lang = detect(user_input)
except:

detected_lang = "unknown"

if user_input in feedback_store and "original" in feedback_store[user_input]:
feedback = feedback_store[user_input]
original_sentence = feedback.get("original”, "")

prompt — fllllll
You are revising a message that was generated for the following situation:
W"{user_input}w"




Original message:
W"{original_sentence}w"

Please revise it based on the following user feedback:

- Make it more natural: {feedback.get('natural’,")}

- Make it more appropriate: {feedback.get(‘appropriate’,”)}

- Consider power dynamics: {feedback.get('power_relation',")}
- Additional suggestions: {feedback.get('suggestion’,")}

Return only the final revised message. Do not explain anything.
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Thank you!




